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& 200 Hl2I4e
B 210 FAEA QL
5 212 ABE2SY CORE
Z.g-2 0] & o A 0f Ay HREZ
6,886,025 7,882,867 A 996,842
200 Mlel==¢ 991,612 3,246,160 A2,254,548
210 & A2+ 65,000 64,000 1,000
212 A28 65,000 64,000 1,000
212-03 ot AtEZ 65,000 64,000 1,000
< ZES > 65,000 64,000 1,000
Odt+=% AH8E 65,000
220 SAIEAN 2+ 926,612 3,182,160 A2,255,548
224 M= 701,600 2,976,732 A2,275,132
224-03 JIEIS| HE L3 701,600 2,976,732 A2,275,132
B EESH > 701,600 2,976,732 A2,275,132
OYBB HTAD 701,600
—siaHRINE 29 BHRED MY 124,037
—IBEN S 2R HAS 837
—FAFLBANL R LD HAD 68,000
—s4R SN Buz MY 18,000
—a2 &3 BACEUIAY 2H2SD HAD 23,800
—OIEOIS S CHHIAY 2HI2L2 72,400
—S3Y YIS 2RSS HAS 47,926
~HTY BEHN o3 2ED MY 35,000
—MNBIAZLHEIAIL RHRYS Y3 115,500
—HYABEBUHRIAIL PHIRSS MY 89,500
—HHBSZUHRAAIL USRS MU 6,600
227 2= 104,414 95,743 8,671
227-01 X EHHM2UtEE= 104,414 95,743 8,671
<ZES > 104,414 95,743 8,671
Os3td 425729 2282 104,414
— 421 Al (41.36%) 63,008
— A 7(10.82%) 16,483
— =28 Z2(16.36%) 24,923
228 &Y 120,598 109,685 10,913
228-09 JIEtE =L 120,598 109,685 10,913
< ESZES > 120,598 109,685 10,913
O+ZH0 28 2013 120,598




Z: 500 EX3
2t 510 212X 3S
g 511 218 E=S (S H2l)
g-2-8.-5 Off &k 2K & & Off &K Blunsz
500 Ex= 5,894,413 4,636,707 1,257,706
510 = 12X28 5,657,613 4,493,707 1,163,906
511 = EX38 5,657,613 4,493,707 1,163,906
511-01 =112 x= 3,183,968 2,275,000 908,968
<EBES > 3,183,968 2,275,000 908,968
OZA(3SHH ) ot ==2 HEHIASY 794,000
O=2&0ts8st=S ALY 277,000
OO0l &Ot=0ot+E FHIAIE 844,000
OJielst=xMelAld EXIXE At 3,968
O&MGt=S L HelAlE EXAY 539,000
OGS LHIAlE EXAY 418,000
OFAGt=XMeld XA 308,000
511-03 0= 2,473,645 2,218,707 254,938
<EBES > 2,473,645 2,218,707 254,938
OZAH (3 ) ot =2t H FHI ALY 272,000
== - SHOS ot HHIAMY 95,200
OO0 &Ot=0t+E FUIALY 289,600
Odt=HelAld 29 1,036,226
OQE&X 22 27,068
O8+g FUXIAL 499,751
oxgsezel 135,000
O&EGt=MelAlE XA 118,800
520 Al,SHIEZ=Z2S 236,800 143,000 93,800
521 Al - THIRZZ3S 236,800 143,000 93,800
521-01 Al - SHIEEXZE 236,800 143,000 93,800
< EZBES > 236,800 143,000 93,800
OZAa=JAXZ0l A 25,200
O&MGt=SZHelAlE EXAY 115,500
OGS LHIAlE EXAY 89,500
OHEGI+=ZSLHelAlE EXALY 6,600




